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Jika gaji bulanan sebesar NT$20.000
Uang lembur 1 hari kerja adalah NT$20.000:30 hari = NT$667/hari

Walaupun pada bulan bersangkutan terdapat 31 hari,
pembagian perhitungan 1 hari kerja juga tetap 30 hari,
tidak boleh dibagi menjadi 31 hari P
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G\fter live-in foreign workers
receive a salary increase,
how is overtime pay calculated?

If the agreed monthly salary is NT$20,000, average daily salary is
NTS$20,000/30=NTS$667 per day.

If a foreign worker works overtime in a month with 31 days,
W\ daily salary is still calculated by dividing by 30

If you have any foreign worker
salary related questions

,* callthe 1955 hotline
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